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!3824Mathematics!

No. of Printed Pages : 12

Part - III

Væü×ìý™èþÔéçÜˆÐèþ$$ / MATHEMATICS

(™ðþË$Væü$ Ðèþ$ÇÄæý$$ C…XÏ‹Ù ¿êÚë…™èþÆæÿÐèþ$$Ë$ / Telugu & English Versions)

çÜÐèþ$Äæý$Ðèþ$$ : 2½ Væü…rË$ ] [ VæüÇçÙx Ðèþ*Ææÿ$PË$ : 100

Time Allowed : 2½ Hours ] [ Maximum Marks : 100

VæüÐèþ$°Mæü  : (1) {ç³Ôèý²ç³{†Mæü Ðèþ$${§æþ×ýÐèþ$$ çÜÇV>Y E¯èþ²§é A° ̂ èþ*yæþ$Ðèþ$$. Ðèþ$${§æþ×ýÌZ H§óþ° MöÆæÿ™èþ
E¯èþ²ç³šyæþ$ Væü¨ Ñ^éÆæÿMæü$°Mìü ™ðþÍÄæý$gôýÄæý$$Ðèþ$$.

(2) Æ>Äæý$yé°Mìü Ðèþ$ÇÄæý$$ A…yæþÆŠÿÌñýO¯Œþ ^óþÄæý$yé°Mìü ±Ë… Ìôý§é ¯èþË$ç³# Ææÿ…Væü$ íÜÆ>
Ðèþ*{™èþÐóþ$ Eç³Äñý*W…^èþ…yìþ. _{™èþç³sêËMæü$ ò³°ÞÌŒý Eç³Äñý*W…^èþ…yìþ.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

VæüÐèþ$°Mæü  : D {ç³Ôèý² ç³{†MæüÌZ ¯éË$Væü$ ¿êVæüÐèþ$$Ë$ E¯é²Æÿ$$.
Note : This question paper contains four sections.

ÇhçÜtÆŠÿ çÜ…QÅ
Register Number

[ Turn over

¿êVæüÐèþ$$  - I / SECTION - I

(Ðèþ*Ææÿ$PË$ : 15) / (Marks : 15)

VæüÐèþ$°Mæü : (i) A°² 15 {ç³Ôèý²ËMæü$ fÐéº$Ë$ {ÐéÄæý$$Ðèþ$$. 15x1=15

(ii) Ç∫Ãq Hê\T>∑T Á|ü‘ê´e÷ïj·÷\qT+∫ ôV≤#·TÃ dü¬s’q<ëìì m+#·Tø=q+&ç eT]j·TT Ä|ü̧Hé
ø√&éqT eT]j·TT dü+ã+~Û‘· düe÷<ÛëHêìï sêj·T+&ç.

Note : (i) Answer all the 15 questions.

(ii) Choose the correct answer from the given four alternatives and write the
option code and the corresponding answer.
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1. f (x)=x2+5,  nsTTq f (−4)=

(a) 26 (b) 21 (c) 20 (d) −20

If f (x)=x2+5, then f (−4)=

(a) 26 (b) 21 (c) 20 (d) −20

2. k+2, 4k−6, 3k−2  nqTq$ n+ø£ ÁX‚&Ûç̋ Àì eT÷&ÉT es¡Tdü |ü<äeTT\T nsTTq k $\Te :
(a) 2 (b) 3 (c) 4 (d) 5

If k+2, 4k−6, 3k−2 are the three consecutive terms of an A.P., then the value of k is :

(a) 2 (b) 3 (c) 4 (d) 5

3. ˇø£ >∑TDÁX‚&Ûç˝Àì yÓTT<ä{Ï Hê\T>∑T es¡Tdü |ü<äeTT\ \ã∆eTT 256  eT]j·TT kÕe÷q´ ìwüŒ‹Ô 4
eT]j·TT yÓTT<ä{Ï |ü<äeTT <ÛäHê‘·àø£+ nsTTq#√, <ëì jÓTTø£ÿ 3 e |ü<äeTT :

(a) 8 (b)
1

16
(c)

1

32
(d) 16

If the product of the first four consecutive terms of a G.P. is 256 and if the common
ratio is 4 and the first term is positive, then its 3rd term is :

(a) 8 (b)
1

16
(c)

1

32
(d) 16

4. x2−2x+7 qT  x+4  #̊ uÛ≤–+∫q|üŒó&ÉT @s¡Œ&ÉT X‚wüeTT :
(a) 28 (b) 29 (c) 30 (d) 31

The remainder when x2−2x+7 is divided by x+4 is :

(a) 28 (b) 29 (c) 30 (d) 31

5. x2−bx+c=0 eT]j·TT  x2+bx−a=0  düMTø£s¡DeTT\ kÕe÷q´ eT÷\eTT :

(a)
c  a

2b

+

(b)
c  a

2b

−

(c)
c  b

2a

+

(d)
a  b

2c

+

The common root of the equations x2−bx+c=0 and x2+bx−a=0 is :

(a)
c  a

2b

+

(b)
c  a

2b

−

(c)
c  b

2a

+

(d)
a  b

2c

+
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6.
7 2

A  
1 3

 
 
 
=  eT]j·TT  1 0

A  B  
2 4

 
 
 

−

+ =
−

  nsTTq e÷Á‹ø£ B=

(a)
1 0

0 1

 
 
 

(b)
6 2

3 1

 
 
 −

(c)
8 2

1 7

 
 
 

− −

−
(d)

8 2

1 7

 
 
 −

If 
7 2

A  
1 3

 
 
 
=  and 

1 0
A  B  

2 4

 
 
 

−

+ =
−

, then the matrix B=

(a)
1 0

0 1

 
 
 

(b)
6 2

3 1

 
 
 −

(c)
8 2

1 7

 
 
 

− −

−
(d)

8 2

1 7

 
 
 −

7. (−2, 6) , (4, 8) _+<äTe⁄\qT ø£\T|ü⁄ düs¡fī πsK≈£î \+ãeTT>± qT+&ÉT düs¡fīπsK yê\T≈£î düe÷qyÓTÆq~ :

(a)
1

3
(b) 3 (c) −3 (d)

1

3
− 

Slope of the straight line which is perpendicular to the straight line joining the points
(−2, 6) and (4, 8) is equal to :

(a)
1

3
(b) 3 (c) −3 (d)

1

3
− 

8. (2, 5), (4, 6), (a, a) _+<äTe⁄\T @ø£πsFj·TeTT˝…’q ‘a’ $\Te≈£î düe÷qyÓTÆq~ :

(a) −8 (b) 4 (c) −4 (d) 8

If the points (2, 5), (4, 6) and (a, a) are collinear, then the value of ‘a’ is equal to :

(a) −8 (b) 4 (c) −4 (d) 8

9. ¬s+&ÉT düs¡÷|ü Á‹uÛÑT»eTT\ |ü]~Û\T Áø£eTeTT>± 24 ôd+.MT. eT]j·TT 18  ôd+.MT. yÓTT<ä{Ï Á‹uÛÑT»eTT
jÓTTø£ÿ ˇø£ uÛÑT»eTT  8  ôd+.MT. nsTTq <ëìøÏ nqTs¡÷|üeTT˝À ñ+&ÉT eTs=ø£ Á‹uÛÑT» uÛÑT»eTT :

(a) 4  ôd+.MT. (b) 3  ôd+.MT. (c) 9  ôd+.MT. (d) 6  ôd+.MT.

The perimeters of two similar triangles are 24 cm and 18 cm respectively.  If one side of
the first triangle is 8 cm, then the corresponding side of the other triangle is :

(a) 4 cm (b) 3 cm (c) 9 cm (d) 6 cm
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10. ∆ABC   ˇø£ \+ãø√D Á‹uÛÑT»eTT n+<äT˝À  ∠B=908 eT]j·TT   BD⊥AC.  BD=8  ôd+.MT.,
AD=4  ôd+.MT.,  nsTTq CD :

(a) 24   ôd+.MT. (b) 16  ôd+.MT. (c) 32  ôd+.MT. (d) 8  ôd+.MT.

∆ABC is a right angled triangle where ∠B=908 and BD⊥AC.  If BD=8 cm, AD=4 cm,
then CD is :

(a) 24  cm (b) 16 cm (c) 32 cm (d) 8 cm

11.  Á|üø£qTqï |ü≥eTT˝À, ∠ABC=

(a) 458 (b) 308 (c) 608 (d) 508

In the adjoining figure ∠ABC=

(a) 458 (b) 308 (c) 608 (d) 508

12. 9 tan2θ−9 sec2θ=

(a) 1 (b) 0 (c) 9 (d) −9

9 tan2θ−9 sec2θ=

(a) 1 (b) 0 (c) 9 (d) −9
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13. >√fīeTT ñ|ü]‘·\ yÓ’XÊ\´eTT  100 π ôd+.MT.2,  nsTTq <ëì yê´kÕs¡úeTT <̊ìøÏ düe÷qyÓTÆq~ ?

(a) 25 ôd+.MT. (b) 100 ôd+.MT. (c) 5 ôd+.MT. (d) 10 ôd+.MT.

If the surface area of a sphere is 100 π cm2, then its radius is equal to :

(a) 25 cm (b) 100 cm (c) 5 cm (d) 10 cm

14.  ˇø£ <ä‘êÔ+X̄eTT jÓTTø£ÿ Áø£eT$#·\qeTT 2 2 .  <ä‘êÔ+X̄eTT˝Àì Á|ü‹ $\TeqT  3 #̊ >∑TDÏ+∫q,
Áø=‘·Ô>± @s¡Œ&ÉT <ä‘êÔ+X̄eTT jÓTTø£ÿ Áø£eT$#·\qeTT :

(a) 12 (b) 4 2 (c) 6 2 (d) 9 2

Standard deviation of a collection of a data is 2 2 .  If each value is multiplied by 3,
then the standard deviation of the new data is :

(a) 12 (b) 4 2 (c) 6 2 (d) 9 2

15. 52 eTTø£ÿ\T >∑\ ø£≥ºqT+&ç ˇø£ eTTø£ÿqT j·÷<äè∫Ã¤ø£+>± rdæq n~ @dt (ace) eT]j·TT sêE
eTTø£ÿ>± ˝Ò≈£î+&ÉT≥≈£î >∑\ dü+uÛ≤e´‘· :

(a)
2

13
(b)

11

13
(c)

4

13
(d)

8

13

A card is drawn from a pack of 52 cards at random.  The probability of getting neither
an ace nor a king card is :

(a)
2

13
(b)

11

13
(c)

4

13
(d)

8

13
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¿êVæüÐèþ$$ - II/SECTION - II

(e÷s¡Tÿ\T : 20) / (Marks : 20)

>∑eTìø£ : (i) 10 Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 10x2=20

(ii) Á|üX̄ï dü+K´  30 ‘·|üŒìdü]. yÓTT<ä{Ï 14 Á|üX̄ï\ qT+∫ @y˚ì 9 Á|üX̄ï\qT m+#·Tø√+&ç.

Note : (i) Answer 10 questions.

(ii) Question number 30 is compulsory.  Select any 9 questions from the first
14 questions.

16. A={1, 2, 3, 4, 5}, B={3, 4, 5, 6} eT]j·TT C={5, 6, 7, 8} \≈£î  A∪(B∪C)=(A∪B)∪C nì
#·÷|ü⁄eTT.

Given, A={1, 2, 3, 4, 5}, B={3, 4, 5, 6} and C={5, 6, 7, 8}, show that
A ∪ (B ∪ C)=(A ∪ B) ∪ C.

17.  ÁøÏ+<ä |ü{Ïºø£  A={5, 6, 8, 10} qT+&ç  B={19, 15, 9, 11} øÏ Á|üẙTj·T+, Çø£ÿ&É  f (x)=2x−1.

a eT]j·TT  b $\Te\qT ø£qT>=qTeTT.

x 5 6 8 10

f (x ) a 11 b 19

The following table represents a function from A={5, 6, 8, 10} to B={19, 15, 9, 11}
where f (x)=2x−1.  Find the values of a and b.

x 5 6 8 10

f (x ) a 11 b 19

18.
2

7
− , m, 

7
(m  2)

2
− +  \T >∑TDÁX‚&Ûç̋ À ñqï#√ m $\Te\qT ø£qT>=q+&ç.

If 
2

7
− , m, 

7
(m  2)

2
− +  are in G.P., find the values of m.
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19. m*$TH˚wüHé $<Ûëq+˝À |ü]wüÿ]+#·+&ç : 13x+11y=70, 11x+13y=74.

Solve by elimination method : 13x+11y=70, 11x+13y=74.

20. dü÷ø°åàø£]+#·TeTT : 
2

2

6   9

3   12

x x

x x

+

−

Simplify : 
2

2

6   9

3   12

x x

x x

+

−

21. A=[aij] nqT e÷Á‹ø£≈£î  aij=2i−j eT÷\ø£eTT\ <ë«sê 2×2 e÷Á‹ø£qT ì]à+|ü⁄eTT.
Construct a 2×2 matrix A=[aij] whose elements are given by aij=2i−j.

22.
3 2

A  
5 1

 
 
 
=  eT]j·TT 

8 1
B  

4 3

 
 
 

−

=  nqTø=ìq  C=2A+B nsTTq e÷Á‹ø£ C qT ø£qT>=qTeTT.

Let 
3 2

A  
5 1

 
 
 
=  and 

8 1
B  

4 3

 
 
 

−

= .  Find the matrix C, if C=2A+B.

23. (−3, 5) , (4, −9) \qT ø£\T|ü⁄ πsU≤K+&ÉeTTqT n+‘·s¡eTT>± 1 : 6 ìwüŒ‹Ô˝À $uÛÑõ+#·T _+<äT
ìs¡÷|üø£eTT\qT ø£qT>=qTeTT.
Find the coordinates of the point which divides the line segment joining (−3, 5) and
(4, −9) in the ratio 1 : 6 internally.

24. ªªa jÓTTø£ÿ nìï $\Te\≈£î (0, a), a > 0 _+<äTe⁄\T x-nø£å+ ô|’ ñ+{≤sTTµµ.  Á|üe#·qeTT dü‘·´
$\TeqT düeT]ú+#·+&ç.
“The points (0, a), a > 0 lie on x-axis for all a”.  Justify the truthness of the statement.

25. ∆PQR ˝À, AB??QR. AB=3 ôd+.MT., PB=2 ôd+.MT. eT]j·TT PR=6 ôd+.MT. nsTTq QR

bı&Ée⁄ ø£qT>=qTeTT.
In ∆PQR, AB??QR.  If AB is 3 cm, PB is 2 cm and PR is 6 cm, then find the length of QR.
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26. ˇø£ |ü]o\≈£î&ÉT 308 }s¡ú« ø√DeTT˝À >√|ü⁄s¡eTT ô|’ uÛ≤>∑eTTqT #·÷#ÓqT. >√|ü⁄s¡eTT qT+&ç

30 3  MT. <ä÷s¡eTT˝À |ü]o\≈£î&ÉT ñHêï&ÉT. uÛÑ÷ eT≥ºeTT qT+&ç |ü]o\≈£îì ø£+{Ï eT≥ºeTTq≈£î
1.5 MT. nsTTq >√|ü⁄s¡+ m‘·TÔqT ø£qT>=qTeTT.
The angle of elevation of the top of a tower as seen by an observer is 308.  The observer

is at a distance of 30 3m from the tower.  If the eye level of the observer is 1.5 m  above

the ground level, then find the height of the tower.

27. ˇø£ Áø£eT eè‘êÔø±s¡ dü÷ú|ü+ dü+|üPs¡í‘·\ yÓ’XÊ\´+ 1540 ôd+.MT.2. <ëì m‘·TÔ uÛÑ÷ yê´kÕs¡ú+q≈£î
4 ¬s≥T¢ nsTTq dü÷ú|üeTT m‘·TÔqT ø£qT>=qTeTT.
The total surface area of a solid right circular cylinder is 1540 cm2.  If the height is four
times the radius of the base, then find the height of the cylinder.

28. ˇø£ <ä‘êÔ+X̄eTT˝Àì ø£ìwü ̃$\Te  12 eT]j·TT yê´|æÔ 59 nsTTq >∑]wü ̃$\TeqT ø£qT>=qTeTT.
The smallest value of a collection of data is 12 and the range is 59.  Find the largest
value of the collection of data.

29. ˇø£ Áø£eTyÓTÆq HêD…eTTqT ¬s+&ÉT kÕs¡T¢ m>∑Ts¡ẙdæq|ü⁄Œ&ÉT, bı+<äT≥≈£î >∑\ dü+uÛ≤e´‘·qT ø£qT>=qTeTT.

(i) ¬s+&ÉT u§eTà\T

(ii) π̌ø ˇø£ u§s¡TdüT
In tossing a fair coin twice, find the probability of getting :

(i) Two heads

(ii) Exactly one tail

30. (a) >√fīeTT |òüTq|ü]e÷DeTT  1
7241

7
 |òüTq|ü⁄ ôd+.MT. nsTTq <ëì yê´kÕs¡úeTTqT ø£qT>=qTeTT.

22
  

7

 
 
 
π=

Ò̋<ë

(b)  x=a secθ+b tanθ eT]j·TT  y=a tanθ+b secθ, nsTTq x2−y2=a2−b2 ìs¡÷|æ+#·TeTT.

(a) If the volume of a solid sphere is 
1

7241
7
 cu. cm, then find its radius.  

22
Take   

7

 
 
 

π=

OR

(b) If x=a secθ+b tanθ and y=a tanθ+b secθ, then prove that x2−y2=a2−b2.
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¿êVæüÐèþ$$ - III/SECTION - III

(e÷s¡Tÿ\T : 45) / (Marks : 45)

>∑eTìø£ : (i)  9 Á|üX̄ï\≈£î düe÷<Ûëq+ Çe«+&ç. 9x5=45

(ii)  Á|üX̄ï dü+K´ 45 ‘·|üŒìdü].  14 Á|üX̄ï\ qT+∫ @y˚ì 8 Á|üX̄ï\qT m+#·Tø√+&ç.
Note : (i) Answer 9 questions.

(ii) Question number 45 is compulsory.  Select any 8 questions from the
14 questions.

31. A={a, b, c, d, e, f, g, x, y, z}, B={1, 2, c, d, e} eT]j·TT  C={d, e, f, g, 2, y}.

A\(B∪C)=(A\B) ∩ (A\C) nì #·÷|ü⁄eTT.
Let A={a, b, c, d, e, f, g, x, y, z}, B={1, 2, c, d, e} and C={d, e, f, g, 2, y}.

Verify A\(B ∪ C)=(A\B) ∩ (A\C).

32. A={6, 9, 15, 18, 21}; B={1, 2, 4, 5, 6} eT]j·TT   f : A → B qT    3
( )  

3

x
f x
−

=  >± ìs¡«∫+#·ã&çq

f  qT :

(i) u≤D≤ ∫Á‘·eTT

(ii) Áø£eT j·TT>∑àeTT\T

(iii) |ü{Ïºø£

(iv) πsU≤∫Á‘·eTT\ <ë«sê dü÷∫+#·TeTT.

Let A={6, 9, 15, 18, 21}; B={1, 2, 4, 5, 6} and f : A → B be defined by 
  3

( )  
3

x
f x
−

= .

Represent f by :

(i) an arrow diagram

(ii) a set of ordered pairs

(iii) a table

(iv) a graph

33. 12−22+32−42+..... nqT ÁX‚DÏ jÓTTø£ÿ yÓTT<ä{Ï 2n |ü<äeTT\ yÓTT‘·ÔeTT ø£qT>=qTeTT.
Find the sum of the first 2n terms of the series 12−22+32−42+.....

34. 7+77+777+.... ÁX‚DÏ jÓTTø£ÿ yÓTT<ä{Ï n |ü<äeTT\ yÓTT‘·ÔeTTqT ø£qT>=qTeTT.
Find the sum of first n terms of the series 7+77+777+....
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35. ìX̄Ã\ ˙{Ï̋ À ˇø£ |ü&Ée ẙ>∑eTT 15 øÏ.MT./>∑+≥. Ä |ü&Ée Á|üyêVü≤ ~X̄˝À 30 øÏ.MT. yÓ[fl e´‹πsø£
~X̄˝À ‹]– >∑eT´kÕúq+ #̊s¡T≥≈£î 4  >∑+ˆˆ 30 ì$TcÕ\T |ü≥TºqT. nsTTq ˙{Ï Á|üyêVü≤ ẙ>∑eTTqT
ø£qT>=qTeTT.

The speed of a boat in still water is 15 km/hr.  It goes 30 km upstream and return
downstream to the original point in 4 hrs. 30 minutes.  Find the speed of the stream.

36. 16x4−24x3+(a−1)x2+(b+1)x+49  nH̊~ ø£∫Ã‘· es¡ZeTT nsTTq#√, a eT]j·TT b \ $\Te\qT
ø£qT>=q+&ç.

Find the values of a and b if 16x4−24x3+(a−1)x2+(b+1)x+49 is a perfect square.

37.
5 2

A  
7 3

 
 
 
=  eT]j·TT 2 1

B  
1 1

 
 
 

−

=
−

  nsTTq  (AB)T=BTAT nì dü]#·÷&ÉTeTT.

If 
5 2

A  
7 3

 
 
 
=  and 

2 1
B  

1 1

 
 
 

−

=
−

 verify that (AB)T=BTAT.

38. (−4, −2), (−3, −5), (3, −2), (2, 3) _+<äTe⁄\#̊ @s¡Œ&ÉT #·‘·Ts¡T“¤» yÓ’XÊ\´+ ø£qT>=qTeTT.

Find the area of the quadrilateral formed by the points (−4, −2), (−3, −5), (3, −2)
and (2, 3).

39. ô|’<∏ë>∑s¡dt dæ<ë∆+‘êìï ‘Ó*j·TCÒdæ, ìs¡÷|æ+#·+&ç.

State and prove Pythagoras theorem.

40. ˇø£ uÛÑeq+ ô|’ uÛ≤>∑eTTq C…+&Ü düÔ+uÛÑeTT ì\ã&çj·TTqï~. uÛÑ÷$Tô|’ ˇø£ _+<äTe⁄ qT+&ç, C…+&Ü
düÔ+uÛÑeTT ô|’ uÛ≤>∑eTT eT]j·TT ÁøÏ+~ uÛ≤>∑eTT #̊j·TT }s¡ú« ø√DeTT\T Áø£eTeTT>± 608 eT]j·TT  458.

C…+&Ü düÔ+uÛÑeTT m‘·TÔ 10 MT. nsTTq, uÛÑeqeTT m‘·TÔ ø£qT>=qTeTT.   ( )3   1.732=

A flag post stands on the top of a building.  From a point on the ground, the angles of
elevation of the top and bottom of the flag post are 608 and 458 respectively.  If the

height of the flag post is 10 m, find the height of the building.  ( )3  1.732=
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[ Turn over

41. X̄+≈£î K+&ÉeTT ∫es¡\ jÓTTø£ÿ #·T≥Tºø=\‘· ø=\‘·\T 44 ôd+.MT. eT]j·TT  8.4 π  ôd+.MT. ˝À‘·T
14 ôd+.MT. nsTTq <ëì |òüTq|ü]e÷D+ ø£qT>=qTeTT.
The perimeter of the ends of a frustum of a cone are 44 cm and 8.4 π cm.  If the depth
is 14 cm, then find its volume.

42. ˇø£ |òüTq ˝ÀVü≤ ≈£L´u≤sTT&é bı&Ée⁄, yÓ&É\TŒ, m‘·TÔ es¡Tdü>± 44 ôd+.MT., 21 ôd+.MT. eT]j·TT
12 ôd+.MT. n~ ø£]–+#·ã&ç |òüTq X̄+≈£îe⁄ ‘·j·÷s¡T #̊j·Tã&ç+~. Ä X̄+≈£îe⁄ m‘·TÔ   24 ôd+.MT.
nsTTq#√, <ëì Ä<Ûës¡+ jÓTTø£ÿ yê´düeTT ø£qT>=q+&ç.
The length, breadth and height of a solid metallic cuboid are 44 cm, 21 cm and 12 cm
respectively.  It is melted and a solid cone is made out of it.  If the height of the cone is
24 cm, then find the diameter of its base.

43. 18, 20, 15, 12, 25 <ä‘êÔ+X̄eTTq≈£î $#·\q >∑TDø£eTTqT ø£qT>=qTeTT.
Find the coefficient of variation of the following data.

18, 20, 15, 12, 25

44. ˇø£ bÕ∫ø£qT ¬s+&ÉT kÕs¡T¢ <=]¢+∫q yÓTT<ä{Ï kÕ] dü] dü+K´ ̋ Òø£ eTTK $\Te\ yÓTT‘·Ô+ 8  bı+<äT≥≈£î
>∑\ dü+uÛ≤e´‘·qT ø£qT>=qTeTT.
If a die is rolled twice, find the probability of getting an even number in the first time or
a total of 8.

45. (a) 3x4+6x3−12x2−24x eT]j·TT  4x4+14x3+8x2−8x ãVüQ|ü<ä düe÷düeTT\≈£î
>∑.kÕ.uÛ≤. qT ø£qT>=qTeTT.

Ò̋<ë

(b) ˇø£ düs¡fīπsK ìs¡÷|üø±ø£åeTT\qT A eT]j·TT  B e<ä› K+&ç+#·TqT. AB eT<Ûä´ _+<äTe⁄ (3, 2)
nsTTq AB jÓTTø£ÿ düMTø£s¡DeTTqT ø£qT>=qTeTT.

(a) Find the GCD of the following polynomials 3x4+6x3−12x2−24x and
4x4+14x3+8x2−8x.

OR

(b) A straight line cuts the coordinate axes at A and B.  If the mid point of AB is (3, 2),
then find the equation of AB.
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¿êVæüÐèþ$$ - IV/SECTION - IV

(e÷s¡Tÿ\T : 20) / (Marks : 20)

>∑eTìø£ : Ç∫Ãq Á|ü‘ê´e÷ïj·÷\ qT+∫ @<√ ̌ ø£{Ï m+#·T≈£î+≥÷ ¬s+&ÉT Á|üX̄ï\≈£L düe÷<Ûëq$Te«+&ç.

Note : Answer both the questions choosing either of the alternative. 2x10=20

46. (a) πø+Á<ä+ qT+&ç   10  ôd+.MT. <ä÷s¡+˝À >∑\ u≤Vü≤´ _+<äTe⁄ qT+&ç   6 ôd+.MT. yê´kÕs¡ú+‘√
^j·Tã&çq eè‘·ÔeTTq≈£î ¬s+&ÉT düŒs¡ÙπsK\qT ^j·TTeTT eT]j·TT yê{Ï bı&Ée⁄\qT …̋øÏÿ+#·TeTT.

Ò̋<ë

(b)  AB=6  ôd+.MT., ∠ABC=708, BC=5  ôd+.MT. eT]j·TT ∠ACD=308  ø=\‘·\‘√ #·Áø°j·T
#·‘·Ts¡T“¤»+ ABCDì ì]à+|ü⁄eTT.

(a) Draw the two tangents from a point which is 10 cm away from the centre of a
circle of radius 6 cm.  Also, measure the lengths of the tangents.

OR

(b) Construct a cyclic quadrilateral ABCD, given AB=6 cm, ∠ABC=708, BC=5 cm
and ∠ACD=308.

47. (a)   2x2+x−6=0 πsU≤∫Á‘·eTT <ë«sê kÕ~Û+#·TeTT.

Ò̋<ë

(b)  xy=20, x, y > 0 ñ+&ÉTq≥T¢ πsU≤∫Á‘·eTTqT ^j·TTeTT. πsU≤∫Á‘·eTTqT ñ|üjÓ÷–+∫   x=5

nsTTq|üŒó&ÉT y eT]j·TT y=10 nsTTq|üŒó&ÉT x $\Te\qT ø£qT>=qTeTT.
(a) Solve graphically 2x2+x−6=0.

OR

(b) Draw the graph of xy=20, x, y > 0.  Use the graph to find y when x=5, and to
find x when y=10.

- o 0 o -


